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Motivation
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From: https://aerospaceengineeringblog.com/boundary-layer-separation-and-pressure-drag/
[accessed 26/09/2020] Original source unclear.
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Diffusion of vorticity
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Boundary layer equations (2D)

ot 8:19 |
;’—’t aﬂ s —
same oxoel S L ce
U )
T Same evber as gL ‘f?z

Osde 8L (% vl) =22 = po pU”

P s

&

-y o



Boundary layer equations (2D)
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Boundary layer equations (2D)
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Example: 2D momentum jet
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Example: 2D momentum jet
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Why constant momentum flux?
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2 Similarity solution 7 3= 3%
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Similarity solution
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Final remarks

« Remember to attempt the exercises for this topic before

the live session on

2pm Thursday, 8 October

* If you find any typos/mistakes in the PDF notes, please
email me at mt599@cam.ac.uk

Thank Yyou for watehing!



